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¥—ßπ—Èπ ®“° -2 ∂÷ß 997 ®–¡’∑—ÈßÀ¡¥ = 996  ®”π«π
·∫àß‡ªìπ™ÿ¥≈– 6 ®”π«π ®–‰¥â  996 = 166  ™ÿ¥
·µà≈–™ÿ¥º≈≈—æ∏å®–‡ªìπ 1 ‡ ¡Õ
‡¡◊ËÕ√«¡∑—Èß 166 ™ÿ¥ ®–‰¥âº≈≈—æ∏å 166 ·≈–√«¡°—∫®”π«π ÿ¥∑â“¬§◊Õ 1
®–‰¥âº≈≈—æ∏å  =  166 + 1 = 167

µÕ∫ 167

9. π—°‡§¡’π”‡Õ“°√¥‡¢â¡¢âπ 48% ¡“‡∑º ¡°—∫°√¥™π‘¥‡¥’¬«°—π·µà‡¢â¡¢âπ 80% ‡ √Á®·≈â«
‡µ‘¡πÈ”°≈—Ëπ∫√‘ ÿ∑∏‘Ï‡æ‘Ë¡‡¢â“‰ªÕ’° 2 ≈‘µ√ º≈∑’Ë‰¥â°Á§◊Õ‡¢“®–‰¥â°√¥∑’Ë¡’§«“¡‡¢â¡¢âπ 40%
®”π«π 10 ≈‘µ√
∂“¡«à“ ‡¢“‡∑°√¥∑’Ë‡¢â¡¢âπ 48% º ¡≈ß‰ª°’Ë¡‘≈≈‘≈‘µ√ (1 ≈‘µ√ = 1,000 ¡‘≈≈‘≈‘µ√)
·π«§‘¥

°√¥‡¢â¡¢âπ 40% ®”π«π 10 ≈‘µ√
¡’°√¥           =   40 x 10 = 4  ≈‘µ√
©–π—Èπ ®–¡’πÈ”°≈—Ëπ = 10 - 4 = 6  ≈‘µ√
·µà‡µ‘¡πÈ”°≈—Ëπ‡¢â“‰ª„À¡à = 2  ≈‘µ√
∴‡¥‘¡¡’πÈ”°≈—Ëπ = 6 - 2 = 4  ≈‘µ√
· ¥ß«à“‡¥‘¡¡’πÈ”°≈—Ëπ 4 ≈‘µ√ ¡’°√¥ 4 ≈‘µ√ √«¡‡ªìπ 8 ≈‘µ√
 ¡¡ÿµ‘«à“„π°“√º ¡„™â°√¥‡¢â¡¢âπ 48% = x  ≈‘µ√

®–‰¥â°√¥‡¢â¡¢âπ 80% = 8 - x  ≈‘µ√
°√¥∑—ÈßÀ¡¥¡’ 4 ≈‘µ√

( 48 x x) +  80 (8 - x) = 4
48x + 80 (8 - x) = 4
48x + 640 - 80x = 400

240 = 32x
∴ x = 7.5

¥—ßπ—Èπ °√¥ 40% ¡’ 7.5 ≈‘µ√ À√◊Õ 1,000 x 7.5 = 7,500  ¡‘≈≈‘≈‘µ√
µÕ∫ 7,500 ¡‘≈≈‘≈‘µ√
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